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CHEMISTRY (Theory)

Time allowed : 3 hours Maximum Marks : 70

General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four Sections — A, B, C and D. There are 33 questions in the
question paper. All questions are compulsory.

(it) Section A - Questions no. 1 to 16 are very short answer type questions, with each
question/ part carrying 1 mark. Answer these questions in one word or one sentence.

(iii) Section B — Questions no. 17 to 25 are short answer type questions, carrying 2 marks each.

(iv) Section C - Questions no. 26 to 30 are long answer type-I questions, carrying 3 marks each.
(v) Section D - Questions no. 31 to 33 are long answer type-II questions, carrying 5 marks each.
(vi) There is no overall choice in the question paper. However, an internal choice has been provided

in 7 questions/parts of one mark, 3 questions of two marks, 2 questions of three marks and all
the 3 questions of five marks. You have to attempt only one of the choices in such questions.

(vit)  In addition to this, separate instructions are given with each section and question, wherever
necessary.

(viit)  Use of calculators and log tables is not permitted.
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SECTION A

Read the passage given below and answer the following questions : 4x1=4

Amines can be considered as derivatives of ammonia and are usually formed from
nitriles, nitro, halides, amides, etc. They show hydrogen bonding which influences their
physical properties. In aromatic amines, electron releasing and withdrawing groups
respectively increase and decrease their basic character.

Hinsberg test is used for the identification and distinction between primary, secondary
and tertiary amines.

The following questions are multiple choice questions :
(1) Ethyl amine can be prepared by the action of LiAlH, on :
(A) CH,NO,
(B) CH; - CN
(®)) CH; - NC
(D) CH, - CH, — CONH,
(ii) Which of the following reagents is used for the Hinsberg test of amines ?
(A) CzH;COCl
(B) CH,COCl
(©) CgH; — SO H
(D) CgHy - SO,C1
(ii1) Out of the following, the strongest base in aqueous solution is :
(A) (CHy),NH
(B) (CHg)sN
©) CH,; - NH,
(D) CzH; - NH,
(iv) The reaction of ammonia with a large excess of CH4 — Cl will give mainly :
(A) C,Hg
(B) (CH3),NH
(©)  (CHy,N"CI”
(D) CH, - NH,

OR

Among the following amines, which one is expected to have the lowest boiling
point ?

(A) C,H; - NH,

(B) (C,Hy)sN

©) (C,Hy),NH

(D) CH, - NH,,
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2. Read the passage given below and answer the following questions : 4x1=4

Colloidal solutions are intermediate between true solutions and suspensions based on
particle size. A colloidal system consists of two phases — the dispersed phase and the
dispersion medium. Based on the nature of interaction between the dispersed phase and
dispersion medium, colloids are of two types — Lyophobic and Lyophilic colloids. The
colloidal particles always carry an electric charge. The colloidal solutions are purified by
dialysis.

In the following questions (Q. No. 2 (i) - (iv)), a statement of assertion followed by a

statement of reason is given. Choose the correct answer out of the following choices.

(A) Assertion and Reason both are correct statements and Reason is the correct explanation
of the Assertion.

(B) Assertion and Reason both are correct statements, but Reason is not the correct
explanation of the Assertion.
©) Assertion is a correct statement, but Reason is a wrong statement.
(D) Assertion is a wrong statement, but Reason is a correct statement.
1) Assertion : True solution shows scattering of light.
Reason : In true solution, size of solute particles is much smaller than the
wavelength of light used.
(i)  Assertion: Lyophilic sols are more stable than Lyophobic sols.
Reason : Lyophilic sols are highly solvated in the solution.
(iii)  Assertion : Colloidal solutions are purified by dialysis.
Reason : Colloidal particles pass through a suitable membrane in dialysis.
(iv)  Assertion : A positively charged sol is obtained when KI is added to AgNO.
Reason : This is due to preferential adsorption of Ag* ions.
OR
Assertion : Colloidal solution shows Brownian Movement.
Reason : Colloid is not a substance but a state of substance.

The following questions (Q. No. 3 to 11) are multiple choice questions :

3. The helix structure of proteins is stabilized by : 1
(A) peptide bond
(B) hydrogen bond
© disulphide bond

(D) van der Waals forces
OR
Nucleic acids are polymers of : 1
(A) nucleosides
(B) D-ribose
©) amino acids

(D) nucleotides
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Which of the following is a strong oxidising agent ?
(At. No. Mn = 25, Zn = 30, Cr =24, Sc=21)

(A)  Mn3*
(B)  Zn?t
(®)) Cr3*
(D)  Sc3*

A compound formed by elements P and Q crystallizes in a cubic structure where P atoms
are at the corners of a cube and Q atoms are at the face centres. The formula of the
compound is :

&) PyQ,
B) PQ,
©  PQ
D  P,Q

Nitrogen is unable to form pentahalides because of :
(A) the presence of s and p orbitals.

(B) the absence of both p and d orbitals.

(®)) the absence of d orbitals.

(D) all of the above

OR
Which of the following hydrogen halides is most volatile ?
(A) H-F
B) H-1I
(©) H-Br
(D) H-Cl
The oxidation number of Co in [Co(en),],(SO,)q is:
(A) +2
(B) +3
© +4
(D) +6
Which of the following ligands form a ‘chelate’ complex with metal ion ?
(A) H,0
(B) CN
© Co0%~
(D) Cl
OR

The coordination number of Cr in [CrClz(ox)2] 3= s
(A) 6
(B) 5
(®)) 4

3

(D)
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10.

11.

The formula of the coordination compound
tetraamminechloridonitrito-N-cobalt(III)chloride is :
(A) [CO(NH3)401(ONO)]CI2

(B) [CO(NH3)4012(N02)]CI

©) [CO(NH3)4CI(NO2)] Cl

(D) [Co(NHS) 4(N02)]C13

The reaction given below :

Cl CH,4
@/ + 2Na + CH3Cl — @/ + 2NaCl

is called :
(A) Wurtz reaction
B) Wurtz — Fittig reaction
©) Fittig reaction
(D) None of the above
OR
Which of the following reactions will be the fastest under identical conditions ?

(A)  C,HOH +HI —— C,H,I +H,0
(B)  C,H,OH+HCl —— C,H.Cl + H,0
(C)  C,H,OH+HBr — C,H Br+ H,0
(D)  C,H,0H+HF — C,H,F + H,0

Cubic close packing of equal sized spheres is described by :
(A) ACB ACB ACB ...

(B) AB AB AB ...

© ABC ABC ABC ...

(D) ABAC AC AB ...

In the following questions (Q. No. 12 - 16) a statement of assertion followed by a

statement of reason is given. Choose the correct answer out of the following choices.

(A)

(B)

(®)
(D)

12.

13.

Assertion and Reason both are correct statements and Reason is the correct explanation

of the Assertion.

Assertion and Reason both are correct statements, but Reason is not the correct

explanation of the Assertion.
Assertion is a correct statement, but Reason is a wrong statement.
Assertion is a wrong statement, but Reason is a correct statement.

Assertion : Ortho-nitrophenol is more acidic than phenol.

Reason : Nitro group is electron donating group and therefore stabilizes

ortho-nitrophenoxide ion.

Assertion : F — F bond has lower bond dissociation enthalpy than CI — CI bond.

Reason : Fluorine forms only one oxoacid.
OR
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Assertion : Noble gases form compounds mainly with Fluorine and Oxygen.

Reason : Fluorine and Oxygen are the most electronegative elements. 1
14. Assertion : Iron on reaction with HCl gives FeCl, and not FeCl,,

Reason : Hydrogen gas produced from the reaction prevents the oxidation of

FeCl, to FeCl,. 1

15. Assertion : Glucose is a reducing sugar.

Reason : Despite having an aldehydic group, glucose does not give 2,4-DNP test. 1
16. Assertion : Benzoic acid does not give Friedel-Crafts reaction.

Reason : The carboxyl group is deactivating and gets bonded to Lewis acid AlCl. 1

SECTION B

The following questions (Q. No. 17 to 25) are short answer type and carry 2 marks each : 9x2=18
17. (a) Write structures of the products formed when : 2x1=2

1) Propan-2-ol is heated with Cu at 573 K.
(i1) Salicylic acid is treated with (CH;CO),O/H".

OR

(b) Carry out the following conversions : 2x1=2
) Phenol to Anisole
(ii) Aniline to Phenol

18. What type of deviation from Raoult’s law is observed by mixing chloroform and acetone ?
Why is a decrease in vapour pressure observed on mixing chloroform and acetone ? 2
19. (a) Write the hybridisation and magnetic behaviour of the following complex : 2x1=2
i [CoFgl?~

()  [Ni(CN)J*
[Atomic number of Co = 27, Ni = 28]

OR
(b) (1) Write the IUPAC name of [Mn(HZO)G]SO 4

(i1) Why is [Fe(CN)6]4‘ diamagnetic while [FeF6]3_ is paramagnetic ?
[At. No. Fe = 26] 2x1=2

20. The following reaction was carried out in water :

Br, + 21" — 2Br +1,

The initial concentration of I was 0:30 M and the concentration after 10 minutes

reduced to 0-28 M. Calculate the rate of disappearance of I and production of L, 2
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21. (a) Account for the following : 2x1=2
) Transition metals form large number of complex compounds.
(i1) Cr?* is a strong reducing agent.
OR
(b) Why do transition elements show variable oxidation states ? How are transition
metals different from p-block elements in terms of variability of oxidation
states ? 2
22, Write the equations involved in the following reactions : 2x1=2
1) Carbylamine reaction
(i1) Hoffmann bromamide degradation reaction
23. In the following pairs of halogen compounds, which would undergo Sy2 reaction faster ?
Give reason in support of your answer. 2x1=2
I Cl
O T\
CH,4
|
(i) CHg— (|3 —Cl , CH;— CH, — Cl
CH4
24, Write equations of the following reactions : 2x1=2
) Friedel-Crafts reaction — alkylation of anisole
(i) Nitration of Phenol with concentrated nitric acid
25. An element with molar mass 27 g mol~! forms a cubic unit cell with edge length 300 pm.
If its density is 6:6 g cm™3, identify the nature of cubic unit cell. 2
SECTION C
Q. No. 26 to 30 are long answer type-I questions carrying 3 marks each. 5x3=15
26. (a) Why is E°(Cu?*|Cu) exceptionally positive ? Although Cu* ion has

3q10 configuration, yet it is unstable in an aqueous solution. Why ? What is the

reason for the stability of Cu?* over Cu™ ion ? 3
OR
(b) Give reasons for the following : 3x1=3
(1) Transition metals form alloys.
(i1) Zinc has lowest enthalpy of atomization.
(ii1) Manganese shows higher oxidation state of +4 with Fluorine but shows

+7 with Oxygen.
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217. (a) Differentiate the following : 3x1=3
(i) Fibrous protein and Globular protein
(ii) Essential amino acids and Non-essential amino acids
(iii) DNA and RNA
OR
(b) Write the reaction of Glucose with : 3x1=3
(1) HCN
(i1) Br,,
(iii) HI
28. Following data were obtained for the given reaction :
X +Y —— Product
Exp. X)/M Y1/M nitial Kae
1 0-1M 0-2M 0-05
2 0-2M 0-2M 0-10
3 0-1M 0-1M 0-05
1) Find the order of reaction with respect to X and Y.
(i1) Write the rate law expression.
(iii) Find the rate constant. 3x1=3
29. Vapour pressure of water at 293 K is 17-536 mm Hg. Calculate the vapour pressure of
aqueous solution when 20 g of glucose (Molar mass = 180 g mol™!) is dissolved in 500 g
of water. 3
30. Give reasons for the following : 3x1=3
1) Electrophilic substitution in haloarenes occurs slowly.
(i) Sulphuric acid is not used during the reaction of alcohols with KI.
(1i1) Alkyl halides give nitrile with KCN and isonitrile with AgCN.
SECTION D
Q. No. 31 to 33 are long answer type-1I questions carrying 5 marks each. 3x5=15
31. (a) (1)  Account for the following :
D Tendency to show -2 oxidation state decreases from Oxygen to
Polonium in Group-16.
(Imn Among the noble gases, only Xenon is known to form chemical
compounds.

(III)  Axial Br — F bonds are slightly bent in the structure of BrF,.
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(b)
32. (a)
(b)
56/1/1

(i1)

@)

(i1)

(1)

(i1)

(i)

(i)
(iii)

(iv)

Draw the structures of XeF6 and XeF2.

OR

3+2=5

When MnO, is heated with conc. HCl a pungent coloured gas (A) is

evolved. (A) reacts with excess NH, to give a colourless gas (B).

However, when excess (A) is reacted with NH, it gives an explosive (C).

Identify (A), (B), (C), with equations.

Arrange the following in the increasing order of the property indicated :

@ Xe, Kr, Ar, Ne, He — Boiling point

Imn HF, HC1, HBr, HI — Thermal stability

Identify A, B and C in the following reactions :

Br
I © Mg, dry Ether 1) CO, PCly C
. Gi) H,0
CrO dil. NaOH
(I) CH, — CH,OH 5, A TR gL

By what tests will you distinguish between :
@D Ethanol and Benzaldehyde

(ID) Acetone and Acetic acid
OR

Name the reagents used in the following reactions :

o ©/CHQCH3 9 @

o
(I1) CH,=CH-CHO — CH, =CH - CH,-OH

CoO Kt

Write the structure of oxime of propanal.

Why does carboxylic acid not give reactions of aldehydes and ketones ?

3+2=5

3+2=5

Arrange the following in the increasing order of their reactivity towards

nucleophilic addition reaction :

COCH,
CH,CHO, HCHO, CH; - ﬁ — CH,,

O

Page 9 of 20

241+1+1=5

P.T.O.



33. (a)
(b)

(1)

(i1)

(i)

(i1)

Calculate emf of the following cell at 298 K :
Al(s) | AI3* (0-1 M) || Cu®* (0-01 M) | Cu (s)
Given : Eg.; =2:00V (log 10 =1)

Define molar conductivity. On dilution, why does the molar conductivity
of HCOOH increase drastically, while that of HCOONa increases
gradually ? 3+2=5

OR

The electrical resistance of a column of 0-:02 M NaOH solution of
diameter 140 cm and length 44 cm is 5:00 x 103 ohm. Calculate its
resistivity, conductivity and molar conductivity.

Depict the galvanic cell in which the reaction takes place :
Ni (s) + 2Ag* (aq) —> Ni2* (aq) + 2Ag (s)

Further show :

@D Which of the electrodes is positively charged ?

(ID) The carriers of the current in the outer circuit. 3+2=5
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©ug <h

=t feu T srg=ae @i dfey qun fFefeifad et < 3 i 4x1=4
Uil S T % Scad o ®Y § HHT W1 dehdl 89U WHTG: A RS, A8, dARE,
UHTgS, 3AMe ¥ 9T S & | 3 BESISH yd guid & S o g9k siifoes ot w1 gwifea
FAT g | WHRE WHHT H saag g (M) T godee AOas 9E 3 &R urEd H
U Ihg T BE H € |
Teet adieror i e, fodiass qun qdiae WiHi 1 ggee qo faug o s fohan S 2 |
frefafaa s sgfaspedta T 2
(i)  ufo U 1 LiAIH, g fordeh W foham shteh SR ST @ehall @ 2

(A)  CH,NO,

(B) CH,-CN

(C)  CHy-NC

(D)  CH,- CH, - CONH,
i)  fr=fafea § @ si-an it Tt o fedent qiew & < fomar SraT 3 2

(A CgH,COCI

(B)  CH,COCI

(C)  CgH,—SOH

(D) CH, - S0,Cl
(iii) Frefaiad ¥ & el foerm o geeaq & @

(A)  (CHy),NH

(B)  (CHy),N

(C)  CH,-NH,

(D)  CgH,-NH,
(iv)  3IEr s Srfifseen CH, — Clsh 3T § shta W qedd: S

A  C,H,

(B)  (CHy,NH

(©)  (CHy,N'CI”
(D)  CH,-NH,
AUAT
Frafefaa Wil & @ formen e feram snfem 2 2
(A)  C,H,—NH,
(B)  (C,Hy,N
(C)  (C,Hy),NH
(D)  CH,-NH,

Page 12 of 20
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gitETur T o fiT STRIAfhAT i Thf % MUR W HIAES 3 TR & 8d & — FITRAT T&
A HIATes | hiclise! ol W gHen fog e w1 8 | widgdl e w 3TdEd g
gigeha (wifer) fepam e 2 |

Aeferfaa g9 (997 @&3T 2 (i) - (iv) ) & U fUFHIT a9T 59 FROT HT FHIT 391 77 § |

FReaferRaa faseal 4 & agt 3w giiv |

(A)  ANYHIT 3 HRIT AT el AT & T SR, ATHAT hl Tal AT 2 |

(B)  Afhem 3 HRUT gHT HWEl o §, Teg SRV, kYA i T =Amen 77 2 |

(C)  fered TE HeH 7, T RN Teid HeH 7 |

(D)  AfYRYA TeAd HeH 7, Trg HRU TEl HAT 7 |

G)  SfFYT:  drEdiaeh foe™d YRt &1 Jehivlg asidar 3 |

R : redfaeh foead | focae H0T 1 TR TIH THI o qUIeed § 95d A
BT R |
(i) f¥HyT:  garht |id, gaferrft gfcd i gorr J s1fere Tarft 3d 2 |
HR : garrft Aict faerem ° afersran faameeraifoa (faemre Tefa) g & |
(i) S7FHI7:  HIAES! G I 3TAEA o gl Yfghd (M) foram SaT 2 |
R : IUTET H HIAES! HUT Tsh I fofeet! ¥ & bt 9I1d 2 |
(iv) SfmgT: 9 AgNO, # KI %l S/dil STl § del Ush GTafird Flet sal & |
FR : T8 Ag™ ITEAI o ST AT % HRT BT 7 |
e
frpeT . Hiaigel faee st fd guiian ® |
HR : HIcATss U Ugrd &l B T Ugred hl EEdT B |
Rl o7 (797 @@ 3 @ 11) aglasedia Iv7 & :
3. T sl Bfcred | % R T B B 1
(A)  U<EE AEg
(B)  TEQSH TEd

(®)) SRECHSS ITEY
(D) 9t 91 9dl

AYAT
FEAH A hEgEh § | 1
(A)  FfFdeiEmEel
(B)  D-Usd®
(©) U oA
(D)  fFasiieEsd
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4.  Tfafed § & S yaa sitawRs 7 ?
(WCHTY] ST Mn = 25, Zn =30, Cr =24, Sc=21)

(A)  Mn3*
(B)  Zn?*
(C) Cr3*
(D)  Sc3*

5. P a1 Q adi <l Ueh O TTeAT § fohtecfisha gieht Teh AfTeh ST 7, gl P 9wTy] o o fehami
T AT Q THTY] HeTeh o hrgl T & | A T A B -

(&) PyQy
®)  PQ,
(C) PQ
D)  PQ

6. AEEISH UCReATse o § 3rEaef 2 e -
(A)  sTAT p herehi <t Iufeafa gt ] |
(B)  p T d ST herehl ! STgUfefd el 7 |
(C)  d-sherehi shi qufedfa &t 8 |

(D) Tt |
steran
fFraffgd O @ H-81 ERENH gaise Tdiieh daTsaiid | ?
(A) H-F
(B) H-1I
©) H-Br
(D) H-Cl
7. [Co(en)y],(SO,), H Co =hi SATeFHIehT0l HEAT 2 :
(A) +2
(B) +3
(®) +4
(D) +6
8. Frefefga forret § | SF-A1 91q 3T=E o d@1e el THa ST 8 2
(A H,0
(B) CN
(C)  C,0%
(D) Cl
srera
[CrCly(ox),]3~ # Cr ! SuEgEaISH &1 & :
(A) 6
(B) 5
() 4
(D) 3
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9. ITHEGASTH AfiTeh SR HFARISMTSeel-N-hiaTee(II)FARISS & §F o 1

(A)  [Co(NH,),CIONO)ICL,
(B)  [Co(NH,),CL,(NO,)IC
(©)  [Co(NH,),CI(NO,)ICI
(D) [Co(NH,),(NO,ICI,
10. = & 73 stfufsean - 1
Cl CH,
@/ + 2Na + CH3CI — @/ + 2NaCl
HEATAT B :
(A) g srfufsen
(B) & — Tofem arfufsran
(©)  Twfem arfsyfeman
(D)  39Y® § Y HIg Tl
ST
fafafiga srfufsranstt 4 @ 9 o esnen § dig g 2 1
(A)  C,H,OH+HI — C,HJI +H,0
(B)  C,H,OH +HCl —— C,H.Cl + H,0
(®) C,H,OH + HBr —— C,H,Br + H,0
(D)  C,H,OH+ HF —— C,H,F + H,0
11.  THH THR % Mal &1 7= ffae gpaq g foran S 2 | 1
(A) ACB ACB ACB ...
(B) AB AB AB ...
(C) ABC ABC ABC ...
(D) ABACACAB...

Aeferfaa g9 (997 @&ar 12 & 16) # U fUFHIT a9T 59% FRUT &1 F97 391 7197 § |
et fasear 8 @ @gl 3¢ &1 giAv |

(A)  ANTHAT 3R SR AT &l HAT & TN HRUT, AHAT hl T&l AT 2 |

(B)  AfUehYA S SR gHT Wl %A 3, Wrg SRV, ANk i aft e 757 7 |

(C)  AfehYA TEl HUA 8, T RO TAd HIF 2 |

(D)  AMYHYA TAd heH 7, Tg PR TEl HIT B |

12. 3o BT T G A ATAT-ATEATA 3Tferh 3Tt 7 |

DR :

SN TR Sl el g B S foh Siiel-ATggiftTeraTss SIeH s wriie &l
2

13.  37y®9T: Cl - C13Te9 61 go1 # F — F @9 6l 37ey folio et &4 7 |

DR :
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SfIHYT : 3IchE (Aeet) N qeard: T d ATRdsH o @1 Afieh 997d & |

<

TSR Td SATafio waiteeh foq-oncis o & | 1

14. 3759 : SR 1 SAfsRAT HCL | T T FeCl, &d1 & 7 o FeCl, |

3rfvfsan o s a1l BEgeH 18 FeCl, 1 FeCly # TR0l i Tehl 2 |

~N

15.  379%9 : ThIE IR U B |

ehid U Ufcegrsfes wg 8 % STt 2,4-DNP qdierr T&f <a1 2 | 1

16. 3P S=Siigeh 3TF Shioel-shIged STTTshaT =&l <a1 @ |

shisirae gg Ffshaor & a1 ggd st AIC], ¥ siferd &1 9T @ | 1

LCRCRC)

Reforferd 3o (397 &1 17 @ 25) Tg-3709 37 & 37 Je9e J97 2 37l 7 & : 9x2=18

17. (a)

(b)

3Icqrel Y g fafge o9 2x1=2
(i) TU9-2-377e1 ! Cu % &9 573 K T T d 2 |

(i)  Gfcrfaferes st s 5631 (CH,C0),0/H" § et St & |
T
Frafefaa sumaor =i hifse - 2x1=2
() P & Ut
(i) U\ @ A

18.  FAGH Td THIEH & fHyo & W=ee fam & fohg yshr &1 fage g T 2 Faried td vEien
% o & o g | = it B 2 2

19. (a)

(b)

frfafaa 9o S T T@ greshE Ygia fofeT 2x1=2
i [CoFgl?~
Qi) [Ni(CN),J%
[T 3R Co = 27, Ni = 28]
AT

(i) [Mn(H,0)4]SO0,, %1 IUPAC 7™ feffaq |

(i)  [Fe(CN) 4 wirgrashir 2 Sfeh [FeF )3~ siggwaehi &, i ?

[FewTT] SFHTR Fe = 26] 2x1=2

20. =l A Sad AT R

Br, + 217 — 2Br + L,

1™ <1 JRfees |iga 0-30 M oft @i 10 fiee gamq Tigar 9 SR 0-28 MBI T8 | 1 o faqqed
B Q@ qdT L, S Al oM R | 2
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21. (a) freafafiga & fow swro A 2x1=2
(i) TS GTqY AT T § HHd Aeh S 3 |
(i)  Cr?* Us e 9=EF ¢ |
ruarT
(b) GhHUT qed qREdASiel TRl STaEdT 1 guIid © ? HehHUl €1qy, p-sclish awl &
iedefiar STTeeleRtor STaEeati o Hed § &y iy 8 2 2
22. Tiafafag rfifseanst § wftafaq i i fafeu - 2x1=2
() iU 7T fsRa
(ii) BHA saATES et srfiyfsman
23.  frafafigq gl Afienl o Iwi § § SH-T1 S 2 AR IS & S 2 T I uE H HR
g | 2x1=2
I Cl
M) N, N
T
(11) CH3—(|3—01 , CH3—CH2—CI
CH,
24. Tatataa srfufspaen & fou g fafeu - 2x1=2
()  ShiSA-sIHed ATHisRaT — YR o1 Uttt
(i) AT =T AT Hig TTE(eh 3TFA & A1
25.  Ueh dd forEeh! Aok gea™™ 27 g mol™1, 300 pm R g shl BT Tsheh hif¥eh! 1A 8 | IS
FHHT T 6:6 g cm™> 7, Al T Teheh HITHHI 1 Thid Sl TE=THT | 2
@ uUs T
J97 &7 26 T 30 FH-370T JHR-1 & 97 & 3K I G973 37l &7 & | 5x3=15
26. (2  E°(Cu"|Cu) SUETEEEY ¥HTcHH F1 @ 2 Cut 3 #1 3d 10 fommg g1a gu +ft Srefiw
oo 9 st 8 | H 2 Cu?t o1 Cut A=A ¥ 3feres Tenf¥cd o1 =1 T g 2 3
arerat
(b) fr=fefiga & fow sror s 3x1=3

(1) Tshul Ty ey ST § |

i)  f5 it FH Tt =Eaw 7 |

(iii)  HHIS TS b | +4 hl I TR SGEAT ST 7 Sfalfeh ATeeIoH b
Y +7 g1 B |
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27. (a) Tmfafea ¥ fadg Hifvw 3x1=3
()  WER T g9 Mcwemr T
(i) 37O WHIH 3R a1 ST THHT 370
(iii) ~DNA T RNA
AT
(b) G % T AfufRa fafem 3% 1=3
(i) HCN
(i)  Br,
(i) ~ HI
28. < mE wrfufsrn & fau fefafea Ter w gu
X+Y —— 3dIq
TR [X]/M [Y]/M m_?f
M min
1 0-1M 0-2 M 0-05
2 02 M 02 M 0-10
3 0-1M 01 M 0-05
(i) X @ Y o @me stfufsean i ife wma Hifv |
Gi) o fm = fafaw |
(i) o feories s <hifT | 3x1=3
29. 9@ H 293 K W 919 @ 17-536 mm Hg & | 91§ 20 g 18 (WIel geq9H = 180 g mol 1)
I 500 g A B foerr fopa Siran B, @1 Siefi foeram o amsg g it oMt i | 3
30. fr=fefea & forw wwor ifsre 3x1=3
()  FAEET # sorarRet gfeere ot g R |
(i)  UchrEia i KI ¥ AT & SR Sew]{en 37 Sl S9N &1 ol I 2 |
(i)  Ufcsret 2ese KCN % |19 18215l a9 AgCN ¥ €1 SRR ad 8 |
Qus g
97 Ge7 31 @ 33 FH-3H1T YER-11 & F97 & 3K Gcdeh Fo7 5 37bl T & | 3x5=15
31. (a) (1) F=fafes & faw sro dimw .

(D  oF-16 § INoESH § UAI-EH G —2 ST el - hl TG
Tt 7 |

AD IS TG H H hadA AW THREHS A1 = o f1g S S @ |
(II)  BrF, s §0a § Br — F 31&fl A1 oig ¥ g S1d & |
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(b)
32. (a)
(b)
56/1/1

(i1)

1)

(ii)

(i)

(i1)

(1)

(ii)
(iii)

(1v)

XeF; T XeF,, ! HT=MTY 95T |

AATT

3+2=H5

S« MnO, =l &5 HCl & @9 7 fopan <ram 2, df Ueh dfteo T4 74 (A)
freperdt @ 1 (A) 1 stfufran sfe NH, & @R = O | (B) &1 @ |
Selfeh NH, I AT (A) § AR Fard &, @ T faewiess (C) s7aT 8 |
(A), (B) @1 (C) ! Ug=T e grfisor farfan |

ffifad =l U 7T 701 % S9N 9 SEd gY A H SAaiedd HIfT

(D) Xe, Kr, Ar, Ne, He — @[T

(1) HF, HC1, HBr, HI — qa1di¥ Tmfcd

ffafea sifufsrnati § A, B @9 C &1 9g=nf :

PCl,

Br
(1) CO
M @ Mg, I e/, DCO

(i) HyO

(I) CH; — CH,0H
form witeor @ fraferfiea & favde s -
I) A qA1 SsfeSess

1)  VHReH o e st

AT

freferfiga stfufpanadi @ 9gw g aTel stfrerrent o T fofey -

CH,CH; o

@ @ —

CrO; , T NaOH

COO™ K*

B A

9
(I) CH,=CH-CHO —> CH, = CH - CH, - OH

TS % Sffaad hi T fafen |

Ufcease wd shie shi ATHTRATY Hraifeaicrsh 3 F i 18l od & ?

C

3+2=H5

3+2=5

freafctiga =t Arfvertelt At (Feper) SAffshen & ufa srfufsramsficrar & sed

FU %A T e T

CH,CHO, HCHO, CH; - (ljl — CHj,
0
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33. (a 1) Frafeafaa ow & fou 298 K @ fa.a1.sa (emf) &t ot hifse
Al (s) | AI** (0-1 M) || Cu®* (0:01 M) | Cu (s)
fen T R : By =2:00V (log 10 = 1)

(i)  HIeR dTetshal sl gRYTYG HIfST | 99 = | HCOOH sl Hier =retehdl disl
Fi Fedt 8, St HCOONa &1 €fit-ofR sgt 7 2 3+2=5
T
b @ 0-02 M NaOH faet=q @ wiem 1 Iga Jilg 5:00 x 103 ohm & | 351 =ATH
140 cm TS &S 44 cm 2 | 39k TfRIEehdl, =Tetehdl qeT AIeR Teishdl i
giehe SHIfT |
(i) 3| feadt o o quige fomw fFrefafaa stfufsean g 2 -

Ni (s) + 2Ag* (aq) —> Ni2* (aq) + 2Ag (s)

19 fe@msu .
05) HIH-A1 SAFLIS GATcHS STERT 7 2
(I =gl uiuy ¥ foga O/ % 9 § | 3+2=5
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